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1. oo AR $e1 o/ Seaihr AR Sftnen
1x8=8

Answer the following/Choose the correct
answer :

(a) T TRT T oW TerT @ Wik ?

Who was the propounder of the theory of
maximum social advantage?
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2)

(b) BI® ORI 9o Bz

Write one example of merit wants.

(c) GSTa 5 TRhr 9
What is the full form of GST?

(d) SrSEAT TP 4 GO BT W forn

Write a source of internal public debt,

fe) 03v-333 FEW IWHT WS THN @w
el F T

Income tax exemption limit bin India’s
budget for 2018-19 is

() {,00,000 B
¥2,00,000

(i) 3,¢0,000 B
¥2,50,000

(ii) R,0,000
¥2,80,000

fiv) },3¢,000 B
2,25,000
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(3)

H TMey=1, e, =1, 5 F @™ 47
If e; =1, e5 =1, then the burden of tax
will be upon
(il CFOR €[S
buyers

(i) ReFor e
sellers

(iii) (O T RCFOR IS WA
buyers and sellers equally

(g) O @ERY I [l 10d3->b S HHRSS
QR ez rmT F4 03 2

Which of the following taxes was the
highest revenue generating tax for
2017-18?

(i) SEF
Income tax
(i) I =T
Corporate tax
(i) & I
Wealth tax

(iv) R&H ]
Sales tax
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(h) TEERE wive cilREe Ices ity cfmeels

(@fR/7) 1

Amount of fiscal deficit is
(more/less) than budget deficit.

2. @R R @ wRER 5 G Bl (ATt 150 =mm
fosve) : : 4x4=16

Write short notes on any four of the following
(within 150 words each) :

(a)

(b)

(c)

(d)

(e)

.P9/166

el RS S Sane 9@

Public finance and developing economy

AT F9 HF AP I &0 14|y

Difference between direct tax and
indirect tax

R ¢/ e IR I/ 4/
Effects of public expenditure on
distribution '
PR 91 RCTE ITPAR
Methods of repayment of public debt
TR A
Incidence of tax
( Continued )



(5)

o 2T S foran (et 500 "4 fee39) :

Answer the following questions (within 500 words
each) :

3. (@ Cﬂﬁ@ﬂﬂwmﬁﬁwﬁﬁ@m
‘WWWWI 11

Discuss the scope of pubiic finance in
the era of globalization.

3t/ Or

(b) RO SART wEWe  TmERE RS
el e g awEmT 3401 11
Examine the role of public finance in
a developing economy with special
reference to India.

-

4. (@) T IW T {2 | I/ W e =7
BoMFPRR I T4 12

What is taxable capacity? Explain the
factors responsible for determination of
. taxable capacity.

&/ Or

(b) SROE W IR SCEETR SE
GSTA WA e TR ARICA 2 7+5=12

Mentiqn the defects of Indian tax
system. Do you think that GST will
eliminate these defects?
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(6)

5. (@) SERT |/ o= T T\E IR W
iR AR, WM 3 | : 11
Critically discuss the role of public

expenditure in economic growth and
stability.

N/ Or

() IR ¥R @@ B2 O ¥R" @@
ACF I FIEA o2 o o 6+5=11
What is burden of public debt? “There is
no burden of internal debt.” Explain.

6. (a) SRR IEHY SRS Rort wE R Row
IFra B 2 TR S, TEFER O =
A9fEF v e | | 4+7=11

What is revenue account and capital
account in a government budget? Define
revenue deficit, fiscal deficit and primary
deficit.

¥/ Or

(b) TN WS B2 T WF S opre @
MM i T 441 | 3+8=11

What is Fiscal policy? Explain the role

of this policy in developed and
underdeveloped economies,
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(7))

7. (a) ORI RS SR ST WF SR S
e 11 .

Discuss the objective and role of Finance
Commission of India.

9T/ Or
(b) SRS CTOW RS SCAR R SO
1 11

Discuss the recommendations of the
latest Finance Commission of India.

* %k
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